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?45>D4F>D=5 V F5E=>?>7VG=5 >5?44=4==O F4 ?D<?44<, 
=4G>>6>->5�DG=F>64=V <5F>4< F4 ?D>7D4<=5 74557?5G5==O 
4?O ?D>6545==O =4G>>6<E 4>E?V465=L G ED5DV E4DG>6<E 
F5E=>?>7V=. 
%� 2. �44F=VEFL ??4=G64F< V 6<>>=G64F< =4G>>6V 
4>E?V465==O 7 GD4EG64==O< E6VF>6<E F5=45=FV= =4G>>6>-
F5E=VG=>7> D>76<F>G 74?G7V. 
%� 3. �44F=VEFL 74E<M4F< V=F5?5>FG4?L=G 6?4E=VEFL G ED5DV 
E4DG>6<E F5E=>?>7V=. 
%� 4. �44F=VEFL ?D575=FG64F< F4 >57>6>DN64F< D57G?LF4F< 
=4G>>6<E 4>E?V465=L V ?D>5>FV6. 
%� 5. �44F=VEFL 74557?5GG64F< O>VEFL F4 557?5G=VEFL 
E4DG>6<E ?D>4G>FV6 ?V4 G4E 6?D>64465==O F5E=>?>7VG=<E 
V==>64FV= =4 ?V4?D<T<EF64E 74?G7V. 

�>44F>>6V 
>><?5F5=F=>EFV 

%� 6. �44F=VEFL 4> D>7D>5>< =>6<E F4 G4>E>>=4?5==O 
VE=GNG<E F5E=>?>7V= 6<D>5=<FF64 ?D>4G>FV6 E4DGG64==O 
4?O ?N45= DV7=<E 6V>>6<E 7DG? V ?D>D5EV==>W 74==OF>EFV. 
%� 7. �44F=VEFL >><5DFV4?V7G64F< V==>64FV==V D>7D>5><. 
%� 8. �44F=VEFL D>7D>5?OF< F4 D54?V7>6G64F< =4G>>6>-
F5E=VG=V ?D>5>F< G ED5DV E4DG>6<E 6<D>5=<FF6 7 
GD4EG64==O< F5E=VG=<E, E>FV4?L=>-5>>=><VG=<E, ?D46>6<E 
F4 V=L<E 4E?5>FV6. 
7 3 �D>7D4<=V D57G?LF4F< =46G4==O 

�D>7D4<=V 
D57G?LF4F< 
=46G4==O 

$� 1. �V4LG>>6G64F< E<EF5<4F<7G64F< F4 4=4?V7G64F< 
=4G>>6>-F5E=VG=G V=D>D<4FVN 7 DV7=<E 465D5? 4?O 
6<DVL5==O ?D>D5EV==<E F4 =4G>>6<E 74644=L G ED5DV 
E4DG>6<E F5E=>?>7V=. 
$� 2. �D<=<4F< 5D5>F<6=V DVL5==O, >FV=N64F< V 
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?>DV6=N64F< 4?LF5D=4F<6< G ED5DV E4DG>6<E F5E=>?>7V=, G 
F><G G<E?V G =56<7=4G5=<E E<FG4FVOE F4 74 =4O6=>EFV 
D<7<>V6, 4 F4>>6 6 <V64<EF<??V=4D=<E >>=F5>EF4E. 
$� 3. �4EF>E>6G64F< E?5FV4?L=5 >5?44=4==O, EGG4E=V 
<5F>4< F4 V=EFDG<5=F<, G F><G G<E?V <4F5<4F<G=5 V 
>><?'NF5D=5 <>45?N64==O 4?O D>76'O74==O E>?44=<E 7444G 
G E4DG>6<E F5E=>?>7VOE. 
$� 4. �4EF>E>6G64F< EF4F<EF<G=V <5F>4< >5D>5>< 
5>E?5D<<5=F4?L=<E 44=<E 6 74?G7V E4DG>6<E F5E=>?>7V=, 
6<>>D<EF>6G64F< E?5FV4?V7>64=5 ?D>7D4<=5 74557?5G5==O 
4?O >5D>5>< 5>E?5D<<5=F4?L=<E 44=<E. 
$� 5. �5<D4F< F4 6?D>6446G64F< G ?D4>F<G=G 6<D>5=<GG 
4VO?L=VEFL 5D5>F<6=V F5E=>?>7VW, >5?44=4==O F4 
D4FV>=4?L=V <5F>4< G?D46?V==O 6<D>5=<FF6>< 7 
GD4EG64==O< E6VF>6<E F5=45=FV= D>76<F>G E4DG>6<E 
F5E=>?>7V=. 
$� 6. $>7D>5?OF< F4 D54?V7>6G64F< ?D>7D4<< D>76<F>G 
?V4?D<T<EF6 74?G7V =4 >>D>F>>- F4 4>67>EFD>>>6G 
?5DE?5>F<6G, 4=4?V7G64F< F4 >FV=N64F< WE 5D5>F<6=VEFL, 
5>>?>7VG=V F4 E>FV4?L=V =4E?V4><. 
$� 7. �4F< E?5FV4?V7>64=V >>=F5?FG4?L=V 7=4==O, M> 
6>?NG4NFL EGG4E=V =4G>>6V 74>5GF>< G ED5DV E4DG>6<E 
F5E=>?>7V=, 7D>7G<V?> V =546>7=4G=> 4>=>E<F< 6?4E=V 
7=4==O, 6<E=>6>< F4 4D7G<5=F4FVN 4> D4EV6FV6 V 
=5D4EV6FV6. 
$� 8. �4V=E=N64F< 74E<EF V=F5?5>FG4?L=>W 6?4E=>EFV G 
ED5DV E4DG>6<E F5E=>?>7V=, 6<>>=G64F< 6V4?>6V4=V ?4F5=F=V 
4>E?V465==O, 7>FG64F< 4>>G<5=F< =4 >FD<<4==O ?4F5=FV6 
=4 6<=4E>4< V >>D<E=V <>45?V. 
$� 9. �V?L=> 6>?>4VF< V=>75<=>N <>6>N 4?O >57>6>D5==O 
?D>D5EV==>W 4VO?L=>EFV, D57G?LF4FV6 4>E?V465=L F4 
V==>64FV= G ED5DV E4DG>6<E F5E=>?>7V=. 
$� 10. �?4=G64F< V 6<>>=G64F< =4G>>6V 4>E?V465==O G 
ED5DV E4DG>6<E F5E=>?>7V=, 4=4?V7G64F< WE D57G?LF4F<, 
4D7G<5=FG64F< 6<E=>6><. 
$� 11. �FV=N64F< F4 GEG64F< D<7<>< V =56<7=4G5=>EFV ?D< 
?D<==OFFV F5E=>?>7VG=<E F4 >D74=V74FV==<E DVL5=L G 
6<D>5=<G<E G<>64E 4?O. 74557?5G5==O O>>EFV F4 
557?5G=>EFV E4DG>6<E ?D>4G>FV6. 
$� 12. '4>E>>=4?N64F< F4 <>45?N64F< F5E=>?>7VW 
6<D>5=<FF64 ?D>4G>FV6 E4DGG64==O 4?O ?N45= DV7=<E 
6V>>6<E 7DG? V ?D>D5EV==>W 74==OF>EFV  

8 - $>D<< 4F5EF4FVW 74>5G64GV6 6<M>W >E6VF< 
$>D<4 4F5EF4FVW �F5EF4FVO 74V=E=NTFLEO G D>D<V ?G5?VG=>7> 74E<EFG 
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74>5G64GV6 6<M>W 
>E6VF< 

>64?VDV>4FV==>W D>5>F<.  
 

�<<>7< 4> 
>64?VDV>4FV==>W 
D>5>F< 

�64?VDV>4FV==4 D>5>F4 <4T 5GF< E?DO<>64=4 =4 D>769O74==O 
>><??5>E=>W E>?44=>W 7444GV F4 ?D>5?5<< G ED5DV E4DG>6<E 
F5E=>?>7V=, M> ?5D5454G4T ?D>6545==O 4>E?V465=L F4/45> 
74V=E=5==O V==>64FV= V E4D4>F5D<7GTFLEO =56<7=4G5=VEFN 
G<>6 V 6<<>7.  
�64?VDV>4FV==4 D>5>F4 =5 ?>6<==4 <VEF<F< 4>445<VG=<= 
??47V4F, D45D<>4FVN, D4?LE<DV>4FVN.  
�64?VDV>4FV==4 D>5>F4 <4T 5GF< >?D<?N4=5=4 =4 
>DVFV==><G E4=FV 74>?44G 6<M>W >E6VF< 45> =>7> 
?V4D>74V?G, 45> G D5?>7<F4DVW �<>>?4W6EL>>7> ��'. 

9 3 $5EGDE=5 74557?5G5==O D54?V74FVW ?D>7D4<< 
�44D>65 
74557?5G5==O 

�44D>65 74557?5G5==O 6V4?>6V44T G<==<< �VF5=7V==<< 
G<>64< ?D>64465==O >E6VF=L>W 4VO?L=>EFV G ED5DV 6<M>W 
>E6VF<. �V47>F>6>4 74>5G64GV6 6<M>W >E6VF< 74 44=>N 
>E6VF=L>-?D>D5EV==>N ?D>7D4<>N 74V=E=NTFLEO =4G>>6>-
?5447>7VG=<<< ?D4FV6=<>4<< D4>G?LF5FV6: F5E=>?>7VW 
6<D>5=<FF64 V ?5D5D>5>< ?D>4G>FVW F64D<==<FF64, 
EF4=44DF<74FVW F4 5V>F5E=>?>7VW; <5=546<5=FG; >5?V>>6>-
DV=4=E>6>7>; V=65=5D=>-5=5D75F<G=>7>; 47D>F5E=>?>7V=; 
>G?LFGD< F4 6<E>64==O. �<?GE>>6>N >4D54D>N T >4D54D4 
?5D5D>5>< ?D>4G>FVW F64D<==<FF64 F4 E4DG>6<E 
F5E=>?>7V=.  
�EV =4G>>6>-?5447>7VG=V ?D4FV6=<><, O>V 744VO=V G 
?V47>F>6FV 74>5G64GV6 6<M>W >E6VF< 74 44=>N >E6VF=L>-
?D>D5EV==>N ?D>7D4<>N, T LF4F=<<< E?V6D>5VF=<>4<< 
���', <4NFL =4G>>6V EFG?5=V F4 6G5=V 764==O, 4 F4>>6 
?V4F65D465=<= 6<E>><= DV65=L =4G>>6>W F4 ?D>D5EV==>W 
4>F<6=>EFV. 

�4F5DV4?L=>-
F5E=VG=5 
74557?5G5==O 

�4557?5G5=VEFL =46G4?L=<<< ?D<<VM5==O<<, 
>><?9NF5D=<<< D>5>G<<< <VEFO<<, <G?LF<<54V==<< 
>5?44=4==O< 6V4?>6V44T ?>FD55V. �4O6=4 6EO =5>5EV4=4 
E>FV4?L=>-?>5GF>64 V=DD4EFDG>FGD4, >V?L>VEFL <VEFL G 
7GDF>6<F>4E 6V4?>6V44T 6<<>74< F4 ?>FD55V.  
�D>6545==O 4>E?V465=L <>6?<65 G =46G4?L=>-=4G>>6>-
?D4>F<G=><G F5=FDV F4 =4G>>6><G ?4D>G 
«�7D>?5DE?5>F<64», =4G>>6>->E6VF=L>-6<D>5=<G><G 
>>=E>DFVG<V «�V645==<=», =4G>>6><G V=EF<FGFV 
V==>64FV==<E F5E=>?>7V= V 7<VEFG 47D4D=>W >E6VF<, =4G>>6>-
4>E?V4=><G V=EF<FGFV =>6<E 47D>?D><<E?>6<E >59T>FV6 F4 
=46G4?L=>-V=D>D<4FV==<E F5E=>?>7V=, =4G>>6>-4>E?V4=><G 
V=EF<FGFV EGG4E=<E F5E=>?>7V= 6 ���, 25-F< ?D>5?5<=<E 
?45>D4F>DVOE ���'. 

�=D>D<4FV==5 F4 �DVFV==<= 655-E4=F ���' <VEF<FL V=D>D<4FVN ?D> 

https://www.mnau.edu.ua/ua/02_01_05.html
https://www.mnau.edu.ua/ua/02_01_05.html
https://www.mnau.edu.ua/ua/02_01_01.html
https://www.mnau.edu.ua/ua/02_01_01.html
https://www.mnau.edu.ua/ua/02_01_01.html
https://www.mnau.edu.ua/ua/02_01_02.html
https://www.mnau.edu.ua/ua/02_01_02.html
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=46G4?L=>-
<5F>4<G=5 
74557?5G5==O 

>E6VF=V ?D>7D4<<, =46G4?L=G, =4G>>6G F4 6<E>6=G 
4VO?L=VEFL, EFDG>FGD=V ?V4D>74V?<, ?D46<?4 ?D<=><G, 
>>=F4>F<. 
�EV D5EGDE< 5V5?V>F5>< ���' 4>EFG?=V G5D57 E4=F 
G=V65DE<F5FG F4 E4=F 5V5?V>F5>< ���', 76<G4==<= F4 
5?5>FD>==<= G<F4?L=V 74?< 5V5?V>F5>< ���' 74557?5G5=V 
5574D>F>6<< 4>EFG?>< 4> <5D56V �=F5D=5F. &4>>6 
74>5G64GV 6<M>W >E6VF< <4NFL 6V?L=<= 4>EFG? 4> 
D5?>7<F4DVN ���'. �EV >><?>=5=F< 44=>W >E6VF=L>W 
?D>7D4<< 74557?5G5=V =46G4?L=>-<5F>4<G=<<< 6<44==O<< 
F4 D>7D>5>4<< >4D54D, M> 74V=E=NNFL ?V47>F>6>G 
74>5G64GV6 6<M>W >E6VF< 74 E?5FV4?L=VEFN 181 «%4DG>6V 
F5E=>?>7VW» >E6VF=L>7> EFG?5=O «<47VEFD», T G 6V?L=><G 
4>EFG?V  G O>>EFV D5EGDEV6 5V5?V>F5>< ���'. 

10 3 �>445<VG=4 <>5V?L=VEFL 
�4FV>=4?L=4 
>D54<F=4 
<>5V?L=VEFL 

�4 >E=>6V 46>EF>D>==VE 4>7>6>DV6 <V6 ���' F4 
�4FV>=4?L=<< G=V65DE<F5F>< E4DG>6<E F5E=>?>7V= (<. 
�<W6); '5D=V65FL><< =4FV>=4?L=<< G=V65DE<F5F>< V<5=V 
.DVO $54L>>6<G4; �>?F46EL><< G=V65DE<F5F>< 5>>=><V>< 
V F>D7V6?V; �5D646=<< 5V>F5E=>?>7VG=<< G=V65DE<F5F><; 
=4G>>6>-4>E?V4=<<< V=EF<FGF4<< ���� '>D4W=<. 
�>?GE>4NFLEO V=4<6V4G4?L=V G7>4< ?D> 4>445<VG=G 
<>5V?L=VEFL 4?O =46G4==O F4 ?D>6545==O 4>E?V465=L 6 
G=V65DE<F5F4E F4 =4G>>6<E GEF4=>64E '>D4W=<. �> 
>5DV6=<FF64 =4G>>6>N D>5>F>N 74>5G64GV6 6<M>W >E6VF< 
74?GG4NFLEO ?D>6V4=V D4EV6FV G=V65DE<F5FV6 '>D4W=< =4 
G<>64E V=4<6V4G4?L=<E 4>7>6>DV6. 
�D54<F<, >FD<<4=V 6 V=L<E G=V65DE<F5F4E '>D4W=<, 
?5D574D4E>6GNFLEO 6V4?>6V4=> 4> 4>6V4>< ?D> 4>445<VG=G 
<>5V?L=VEFL. 

�V6=4D>4=4 
>D54<F=4 
<>5V?L=VEFL 

�4 >E=>6V 46>EEF>D>==VE 4>7>6>DV6 <V6 ���' F4 6<M<<< 
=46G4?L=<<< 74>?444<< 74DG5V6=<E >D4W=-?4DF=5DV6: 
�5D646=<< 47D4D=<< G=V65DE<F5F>< (�>?4>64), 
&4L>5=FEL><< 45D646=<< 47D4D=<< G=V65DE<F5F>< 
('755><EF4=), &>D4=7<D>6 G=V65DE<F5F ($5E?G5?V>4  
�474EEF4=) F>M>. 

�46G4==O 
V=>75<=<E 
74>5G64GV6 6<M>W 
>E6VF< 

�V4EGF=T, 4?5 4>76>?5=5 74 44=>N >E6VF=L>-?D>D5EV==>N 
?D>7D4<>N. 

 
 

2. �5D5?V> >><?>=5=F >E6VF=L>-?D>D5EV==>W ?D>7D4<< 4DG7>7> 
(<47VEF5DEL>>7>) DV6=O 6<M>W >E6VF< 7V E?5FV4?L=>EFV 
181 «%4DG>6V F5E=>?>7VW» F4 WE ?>7VG=4 ?>E?V4>6=VEFL 

https://www.mnau.edu.ua/files/faculty/tvpptsb/filii/chernivetskyi-universitet.pdf
https://www.mnau.edu.ua/files/faculty/tvpptsb/filii/chernivetskyi-universitet.pdf
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2.1. �5D5?V> >><?>=5=F >E6VF=L>W ?D>7D4<< 

�>4 =/4 �><?>=5=F< >E6VF=L>W ?D>7D4<< �V?L>VEFL 
>D54<FV6 

$>D<4 
?V4EG<>>6>7> 

>>=FD>?N 
�5>69O7>>6V >><?>=5=F< >E6VF=L>W ?D>7D4<< 

�<EF<??V=< F<>?G 7474?L=>W ?V47>F>6>< 
�� 1. �V?>64 V=>75<=4 <>64 (74 D4E><) 5,0 �>74<5=  
�� 2. �=F5?5>FG4?L=4 6?4E=VEFL  5,0 �>74<5=  
'EL>7> 74 F<>?>< 10,0 × 

�<EF<??V=< F<>?G ?D>D5EV==>W F4 ?D4>F<G=>W ?V47>F>6>< 
�� 3. �5F>4>?>7VO =4G>>6>W F6>DG>EFV  3,0 �4?V>  
�� 4. '?D46?V==O O>VEFN F4 557?5G=VEFN 

?D>4G>FVW =4 ?V4?D<T<EF64E E4DG>6>W 
?D><<E?>6>EFV 

4,0 
�>74<5=  

�� 5. �==>64FV==V F5E=>?>7VW 74?G7V 
8,0 

�>74<5=, 
74E<EF >GDE>6>7> 

?D>T>FG  
�� 6. &5E=>?>7VW ?D>4G>FV6 E4DGG64==O 4?O 

?N45= DV7=<E 6V>>6<E 7DG? V ?D>D5EV==>W 
74==OF>EFV 

5,0 
�>74<5=  

�� 7. �V>?>7VG=> 4>F<6=V D5G>6<=< 6 E4DG>6<E 
F5E=>?>7VOE 

3,0 �4?V> 

�� 8. �4D>5F<=7>6V 4>E?V465==O F4 G?D46?V==O 
V=65EF<FV==<<< ?D>T>F4<< 

6,0 �4?V>, 74E<EF 
>GDE>6>W D>5>F< 

�� 9. �4G>>6>-4>E?V4=<FL><= ?D4>F<>G< 4 �4?V> 
�� 10. �<D>5=<G4 ?D4>F<>4 10,0 �4?V> 
�� 11. �64?VDV>4FV==4 D>5>F4 10,0 �4E<EF 

>64?VDV>4FV==>W 
D>5>F< 

'EL>7> 74 F<>?>< 53,0 × 
�474?L=<= >5EO7 >5>69O7>>6<E >><?>=5=F 63,0 × 

�<5VD>>6V >><?>=5=F< >E6VF=L>W ?D>7D4<<  
�<EF<??V=< F<>?G 7474?L=>W ?V47>F>6><  

�� 1. �<5VD>>64 4<EF<??V=4 1 5,0 �4?V> 
'EL>7> 74 F<>?>< 5,0 × 

�<EF<??V=< F<>?G ?D>D5EV==>W (?D4>F<G=>W) ?V47>F>6><  
�� 2. �<5VD>>64 4<EF<??V=4 2 6,0 �>74<5=  
�� 3. �<5VD>>64 4<EF<??V=4 3 8,0 �4?V>  
�� 4. �<5VD>>64 4<EF<??V=4 4 8,0 �4?V>  
'EL>7> 74 F<>?>< 22,0 × 
�474?L=<= >5EO7 6<5VD>>6<E >><?>=5=F 27,0 × 
�����,��� ��%/� �%��&�,�� �$��$��� 90,0 × 
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2.2. %FDG>FGD=>-?>7VG=4 EE5<4 >E6VF=L>W ?D>7D4<< 

�<6G5==O >><?>=5=F >E6VF=L>-?D>D5EV==>W ?D>7D4<< 4DG7>7> 
(<47VEF5DEL>>7>) DV6=O 6<M>W >E6VF< 74 E?5FV4?L=VEFN 181 «%4DG>6V F5E=>?>7VW» 
74?G7V 7=4=L 18 «�<D>5=<FF6> F4 F5E=>?>7VW» 74V=E=NTFLEO G ?>E?V4>6=>EFV, O>4 
?D54EF46?5=4 =4 D<EG=>G 1.  

 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 

$<E. 1. %FDG>FGD=>-?>7VG=4 EE5<4 
 

 
3. $>D<4 4F5EF4FVW 74>5G64GV6 6<M>W >E6VF< 

�F5EF4FVO 6<?GE>=<>V6 >E6VF=L>W ?D>7D4<< 4DG7>7> (<47VEF5DEL>>7>) DV6=O 
6<M>W >E6VF< 74 E?5FV4?L=VEFN 181 «%4DG>6V F5E=>?>7VW» ?D>6>4<FLEO G D>D<V 
74E<EFG >64?VDV>4FV==>W D>5>F< F4 7465DLGTFLEO 6<44G>N 4>>G<5=FG 
6EF4=>6?5=>7> 7D47>4 (4<??><G) ?D> ?D<EG465==O =><G EFG?5=O <47VEFD4 V7 
?D<E6>T==O< >64?VDV>4FVW: «�47VEFD 7 E4DG>6<E F5E=>?>7V=». 

�5D646=4 4F5EF4FVO 74V=E=NTFLEO 6V4>D<F> V ?G5?VG=>. 
 

%5
<5

EF
D 

1 

�� 1 

�� 1 

�� 4 �� 7 �� 3 �� 5 

�� 2 �� 6 �� 8 �� 2 �� 10 
1010 

�� 3 �� 4 �� 9 �� 11 

%5
<5

EF
D 

3 
%5

<5
EF

D 
2 



&45?<FO 1 
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�$� 2  +  + +  + +   +  + + 
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�$� 4   +   +   +      
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�� 6 +      +    + +   
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�� 8 + + +  + +       +  
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�� 10  +   + + +   + +  
�� 11 + + + + + + +  + +  + 

 



 

 

 18

�5D5?V> =>D<4F<6=<E 4>>G<5=FV6, =4 O><E 547GTFLEO 
>E6VF=L>-?D>D5EV==4 ?D>7D4<4 

 
1. �4>>= '>D4W=< «�D> 6<MG >E6VFG» (6V4 01.07.2014 7 1556-VII). 3 $56<< 4>EFG?G: 
http://zakon4.rada.gov.ua/laws/show/1556-18;  
2. �4>>= '>D4W=< «�D> >E6VFG» (6V4 05.09.2017 7 2145-V���). 3 $56<< 4>EFG?G: 
http://zakon5.rada.gov.ua/laws/show/2145-19;  
3. �?4E<DV>4F>D ?D>D5EV=: �� 003: 2010. http://www.dk003.com;  
4. �5F>4<G=V D5>><5=44FVW M>4> D>7D>5?5==O EF4=44DFV6 6<M>W >E6VF<. �4F65D465=V 
�4>47 �V=VEF5DEF64 >E6VF< V =4G>< '>D4W=< 6V4 01.06.2017 D. 7 600 (G D544>FVW =4>47G 
�V=VEF5DEF64 >E6VF< V =4G>< '>D4W=< 6V4 30.04.2020 D. 7 584. 
https://mon.gov.ua/storage/app/media/vyshcha/naukovo-metodychna_rada/2020-metod-
rekomendacziyi.docx  
5. �>EF4=>64 �45V=5FG <V=VEFDV6 '>D4W=< 6V4 23.11.2011 7 1341 «�D> 74F65D465==O 
�4FV>=4?L=>W D4<>< >64?VDV>4FV=». 3 http://zakon4.rada.gov.ua/laws/show/1341-2011-?;  
6. �>EF4=>64 �45V=5FG <V=VEFDV6 '>D4W=< 6V4 29.04.2015 7 266 «�D> 74F65D465==O 
?5D5?V>G 74?G75= 7=4=L V E?5FV4?L=>EF5=, 74 O><<< 74V=E=NTFLEO ?V47>F>6>4 74>5G64GV6 
6<M>W >E6VF<». 3 http://zakon4.rada.gov.ua/ laws/show/266-2015-?.  
�>44F>>6V V=D>D<4FV==V 465D5?4 
1. %F4=44DF< F4 D5>><5=44FVW M>4> 74557?5G5==O O>>EFV 6 �6D>?5=EL>><G ?D>EF>DV 
6<M>W >E6VF< (ESG) // URL: https://ihed.org.ua/wp-
content/uploads/2018/10/04_2016_ESG_2015.pdf.  
2. EQF 2017 (�6D>?5=EL>4 D4<>4 >64?VDV>4FV=) // URL: 
https://ec.europa.eu/ploteus/sites/eac-eqf/files/en.pdf; 
https://ec.europa.eu/ploteus/content/descriptors-page  
3. QF EHEA 2018 ($4<>4 >64?VDV>4FV= ����) // URL: 
http://www.ehea.info/Upload/document/ministerial_declarations/EHEAParis2018_Commun
ique_AppendixIII_952778.pdf  
4. ISCED (�V6=4D>4=4 EF4=44DF=4 >?4E<DV>4FVO >E6VF<, �%��) 2011 // URL: 
http://uis.unesco.org/sites/default/files/documents/international-standard-classification-of-
education-isced-2011-en.pdf.  
5. ISCED-F (�V6=4D>4=4 EF4=44DF=4 >?4E<DV>4FVO >E6VF< 3 �4?G7V, �%��-�) 2013 // 
URL: http://uis.unesco.org/sites/default/files/documents/international-standard-
classification-of-education-fields-of-education-and-training-2013-detailed-field-
descriptions-2015-en.pdf  
6. TUNING http://www.unideusto.org/tuningeu. 
7. $>7D>5?5==O >E6VF=VE ?D>7D4<. �5F>4<G=V D5>><5=44FVW / �6F. �. �. �4E4DG5=>>, �. 
�. �G7>6<=, .. �. $4L>56<G, �. �. &4?4=>64 / �4 D54. �. �. �D5<5=O. 3 �.: �� «��& 
«�DV>D<F5F<», 2014. 3 120 E.;  
8. �4FV>=4?L=<= >E6VF=V= 7?>E4DV=: 6<M4 >E6VF4 / �6F.-G>?44.: �. �. �45<=, /. /. 
�>?N54L, �. �. �4D<4L F4 V=.; 74 D544>FVTN �. �. &454G=<>4 V �. �. �D5<5=O. 3 �.: 
&�� «�<446=<G<= 4V< «�?5O4<», 2011. 3 100 E.;  
9. $>76<F>> E<EF5<< 74557?5G5==O O>>EFV 6<M>W >E6VF< 6 '>D4W=V: V=D>D<4FV==>-
4=4?VF<G=<= >7?O4 / '>?444GV: �>5>> &., �>?>F4DL>64 �., �4?4L=V>>64 %., �>6FG=5FL 
�., �GD54F>6 %., �<=L>64 �., �G7>6<= �., �D>E>D �., $4L>56<G .., %V>>DEL>4 �., 
&4?4=>64 �., $V=V>>6 &., ,4D>6 �.; 74 747. D54. %. �4?4L=V>>6>W F4 �. �G7>6>7>. 3 
�<W6: �� «��& «�DV>D<F5F<», 2015. 3 84 E.  
 


